GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax (810) 767-5373 – Administration Fax (810) 767-3634 – Maintenance

DATE: December 19, 2022

TO: Zito Construction Co.

T.G. Priehs, LLC

Lois Kay Contracting Co.

Superior Contracting Group, LLC

Joe Raica Excavating, Inc. L.A. Construction Corp.

SUBJECT: Bid Tabulation

Dye Road Curb & Gutter Repair GCRC No. 459-76-W50309

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on December 19, 2022.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Eric Johnston, P.E. Director of Engineering

Enclosure

cc: Michael Pifer - Kraft Engineering

Karyn Miller – Flint Township

EJ

AP

RH

GG

TK

File



Bid Comparison

Contract ID:

2021-14

Description:

280 feet of Pavt Rem; Earthwork; Cold Milling HMA Surf; Dr Structure Adjust; Aggregate Base; HMA Paving; Conc Curb & Gutter; Drive

Location:

Approach Replacement; Pavt Mrkgs; & Restoration

Location.

Dye Road, South of Corunna Road, Flint Township

Projects(s):

2021-14

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$88,855.00	-15.09%	0.00%
1	(_10) Zito Construction Co.	\$104,647.00	0.00%	17.77%
2	(07636) T. G. Priehs, LLC	\$126,625.20	21.00%	42.50%
3	(00745) Lois Kay Contracting Co.	\$141,794.00	35.49%	59.57%
4	(07526) Superior Contracting Group L.L.C.	\$152,352.00	45.58%	71.46%
5	(_292020) Joe Raica Excavating, Inc.	\$154,750.00	47.87%	74.16%
6	(08046) L. A. Construction, Corp.	\$258,000.00	146.54%	190.36%

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Zito Construction	n Co.	(2) T. G. Priehs, LLC	
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2047011	277	Syd	\$20.00	\$5,540.00	\$21.00	\$5,817.00	\$60.00	\$16,620.00
_ Pavt, Rem, Modified								
0002 2050010	30	Cyd	\$35.00	\$1,050.00	\$30.00	\$900.00	\$60.00	\$1,800.00
Embankment, CIP								
0003 2050016	90	Cyd	\$30.00	\$2,700.00	\$30.00	\$2,700.00	\$40.00	\$3,600.00
Excavation, Earth								
0004 2080020	3	Ea	\$125.00	\$375.00	\$105.00	\$315.00	\$105.00	\$315.00
Erosion Control, Inlet Protection, Fal								
0005 3027031	125	Ton	\$60.00	\$7,500.00	\$55.00	\$6,875.00	\$56.40	\$7,050.00
_ Aggregate Base, Modified								
0006 3067031	50	Ton	\$50.00	\$2,500.00	\$30.00	\$1,500.00	\$56.40	\$2,820.00
_ Maintenance Gravel, Modified								
0007 4030005	2	Ea	\$900.00	\$1,800.00	\$880.00	\$1,760.00	\$800.00	\$1,600.00
Dr Structure Cover, Adj, Case 1								
0008 4030304	1	Ea	\$200.00	\$200.00	\$165.00	\$165.00	\$140.00	\$140.00
Dr Structure, Tap, 4 inch							***************************************	
0009 4040061	27	Ft	\$15.00	\$405.00	\$20.00	\$540.00	\$35.00	\$945.00
Underdrain, Subbase, 4 inch								
0010 5010002	280	Syd	\$15.00	\$4,200.00	\$20.00	\$5,600.00	\$25.00	\$7,000.00
Cold Milling HMA Surface								
0011 5010025	42	Ton	\$300.00	\$12,600.00	\$330.00	\$13,860.00	\$200.00	\$8,400.00
Hand Patching (HMA, 3C)								
0012 5010032	42	Ton	\$250.00	\$10,500.00	\$300.00	\$12,600.00	\$204.00	\$8,568.00
HMA, 4C								
0013 5017011	126	Syd	\$80.00	\$10,080.00	\$200.00	\$25,200.00	\$200.00	\$25,200.00
_ HMA Commercial Approach, Spec								
0014 8017011	12	Syd	\$70.00	\$840.00	\$135.00	\$1,620.00	\$336.00	\$4,032.00
_ Driveway, Nonreinf Conc, 8 inch, N								
0015 8020038	172	Ft	\$40.00	\$6,880.00	\$45.00	\$7,740.00	\$75.60	\$13,003.20
Curb and Gutter, Conc, Det F4								
0016 8020050	186	Ft	\$40.00	\$7,440.00	\$45.00	\$8,370.00	\$81.00	\$15,066.00
Driveway Opening, Conc, Det M								

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S ES	STIMATE	(1) Zito Construction	Co.	(2) T. G. Priehs, LLC	
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0017 8077050	1	Ea	\$120.00	\$120.00	\$125.00	\$125.00	\$120.00	\$120.00
_ Post, Mailbox, Modified								
0018 8110231	100	Ft	\$5.00	\$500.00	\$9.00	\$900.00	\$9.00	\$900.00
Pavt Mrkg, Waterborne, 4 inch, White								
0019 8120022	2	Ea	\$350.00	\$700.00	\$75.00	\$150.00	\$73.00	\$146.00
Barricade, Type III, High Intensity, Ligh	nted, Furn							
0020 8120023	2	Ea	\$150.00	\$300.00	\$10.00	\$20.00	\$1.00	\$2.00
Barricade, Type III, High Intensity, Ligh	nted, Oper							
0021 8120140	1	Ea	\$775.00	\$775.00	\$500.00	\$500.00	\$490.00	\$490.00
Lighted Arrow, Type C, Furn								
0022 8120141	1	Ea	\$375.00	\$375.00	\$200.00	\$200.00	\$120.00	\$120.00
Lighted Arrow, Type C, Oper								
0023 8120170	1	LSUM	\$4,000.00	\$4,000.00	\$3,700.00	\$3,700.00	\$5,100.00	\$5,100.00
Minor Traf Devices								
0024 8120252	40	Ea	\$35.00	\$1,400.00	\$20.00	\$800.00	\$19.50	\$780.00
Plastic Drum, Fluorescent, Furn								
0025 8120253	40	Ea	\$15.00	\$600.00	\$1.00	\$40.00	\$1.00	\$40.00
Plastic Drum, Fluorescent, Oper								
0026 8120350	200	Sft	\$10.00	\$2,000.00	\$4.00	\$800.00	\$3.60	\$720.00
Sign, Type B, Temp, Prismatic, Furn								
0027 8120351	200	Sft	\$5.00	\$1,000.00	\$1.00	\$200.00	\$1.00	\$200.00
Sign, Type B, Temp, Prismatic, Oper								
0028 8167011	165	Syd	\$15.00	\$2,475.00	\$10.00	\$1,650.00	\$11.20	\$1,848.00
_ Turf Establishment, Performance-No	Rye, Spec	cial						
Bid Totals:				\$88,855.00		\$104,647.00		\$126,625.20

Line Pay Item Code	Quantity	Units	(3) Lois Kay Contra	acting Co.	(4) Superior Contra	cting Group	(5) Joe Raica Excavating, Inc.	
Description	•		Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2047011	277	Syd	\$32.00	\$8,864.00	\$55.00	\$15,235.00	\$45.00	\$12,465.00
_ Pavt, Rem, Modified								
0002 2050010	30	Cyd	\$40.00	\$1,200.00	\$100.00	\$3,000.00	\$20.00	\$600.00
Embankment, CIP								
0003 2050016	90	Cyd	\$65.00	\$5,850.00	\$28.00	\$2,520.00	\$40.00	\$3,600.00
Excavation, Earth								
0004 2080020	3	Ea	\$140.00	\$420.00	\$140.00	\$420.00	\$100.00	\$300.00
Erosion Control, Inlet Protection, Fal	oric Drop							
0005 3027031	125	Ton	\$65.00	\$8,125.00	\$65.00	\$8,125.00	\$100.00	\$12,500.00
_ Aggregate Base, Modified								
0006 3067031	50	Ton	\$65.00	\$3,250.00	\$55.00	\$2,750.00	\$20.00	\$1,000.00
_ Maintenance Gravel, Modified								
0007 4030005	2	Ea	\$1,750.00	\$3,500.00	\$1,580.00	\$3,160.00	\$6,000.00	\$12,000.00
Dr Structure Cover, Adj, Case 1								
0008 4030304	1	Ea	\$325.00	\$325.00	\$750.00	\$750.00	\$500.00	\$500.00
Dr Structure, Tap, 4 inch								
0009 4040061	27	Ft	\$45.00	\$1,215.00	\$25.00	\$675.00	\$15.00	\$405.00
Underdrain, Subbase, 4 inch								
0010 5010002	280	Syd	\$24.00	\$6,720.00	\$17.00	\$4,760.00	\$32.50	\$9,100.00
Cold Milling HMA Surface								
0011 5010025	42	Ton	\$275.00	\$11,550.00	\$375.00	\$15,750.00	\$400.00	\$16,800.00
Hand Patching (HMA, 3C)								
0012 5010032	42	Ton	\$315.00	\$13,230.00	\$325.00	\$13,650.00	\$315.00	\$13,230.00
HMA, 4C								
0013 5017011	126	Syd	\$215.00	\$27,090.00	\$220.00	\$27,720.00	\$215.00	\$27,090.00
_ HMA Commercial Approach, Spec	ial							
0014 8017011	12	Syd	\$245.00	\$2,940.00	\$275.00	\$3,300.00	\$125.00	\$1,500.00
_ Driveway, Nonreinf Conc, 8 inch, N	/lodified							
0015 8020038	172	Ft	\$65.00	\$11,180.00	\$65.00	\$11,180.00	\$95.00	\$16,340.00
Curb and Gutter, Conc, Det F4								
0016 8020050	186	Ft	\$70.00	\$13,020.00	\$65.00	\$12,090.00	\$105.00	\$19,530.00
Driveway Opening, Conc, Det M								

Line Booken Oada	0	11!4			(4) Superior Contrac	cting Group		
Line Pay Item Code	Quantity	Units	(3) Lois Kay Contra	•	L.L.C.	Total	(5) Joe Raica Exca	•
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0017 8077050	1	Ea	\$275.00	\$275.00	\$150.00	\$150.00	\$150.00	\$150.00
_ Post, Mailbox, Modified								
0018 8110231	100	Ft	\$10.00	\$1,000.00	\$5.00	\$500.00	\$9.00	\$900.00
Pavt Mrkg, Waterborne, 4 inch, Wh	ite							
0019 8120022	2	Ea	\$85.00	\$170.00	\$100.00	\$200.00	\$150.00	\$300.00
Barricade, Type III, High Intensity, L	₋ighted, Furn							
0020 8120023	2	Ea	\$10.00	\$20.00	\$10.00	\$20.00	\$50.00	\$100.00
Barricade, Type III, High Intensity, L	₋ighted, Oper							
0021 8120140	1	Ea	\$400.00	\$400.00	\$1,000.00	\$1,000.00	\$600.00	\$600.00
Lighted Arrow, Type C, Furn								
0022 8120141	1	Ea	\$100.00	\$100.00	\$150.00	\$150.00	\$50.00	\$50.00
Lighted Arrow, Type C, Oper								
0023 8120170	1	LSUM	\$16,500.00	\$16,500.00	\$19,872.00	\$19,872.00	\$2,000.00	\$2,000.00
Minor Traf Devices			. ,	, ,	, ,	. ,	. ,	, ,
0024 8120252	40	Ea	\$20.00	\$800.00	\$20.00	\$800.00	\$20.00	\$800.00
Plastic Drum, Fluorescent, Furn			Ψ=0.00	4000.00	Ψ=0.00	φου.σο	Ψ=0.00	φοσ.σσ
0025 8120253	40	Ea	\$2.00	\$80.00	\$4.00	\$160.00	\$1.00	\$40.00
Plastic Drum, Fluorescent, Oper		Lu	Ψ2.00	φου.σο	ψ1.00	ψ100.00	Ψ1.00	ψ10.00
0026 8120350	200	Sft	\$4.00	\$800.00	\$8.00	\$1,600.00	\$5.50	\$1,100.00
Sign, Type B, Temp, Prismatic, Furn		Oit	Ψ+.00	Ψ000.00	ψ0.00	Ψ1,000.00	ψ0.00	Ψ1,100.00
0027 8120351	200	Sft	\$1.00	\$200.00	\$5.00	\$1,000.00	\$0.50	\$100.00
Sign, Type B, Temp, Prismatic, Ope		Oit	ψ1.00	Ψ200.00	ψ5.00	Ψ1,000.00	ψ0.50	ψ100.00
		01	<u> </u>	#0.070.00	Φ44 00	#4 04E 00	#40.00	Φ4 0F0 00
0028 8167011	165	•	\$18.00	\$2,970.00	\$11.00	\$1,815.00	\$10.00	\$1,650.00
_ Turf Establishment, Performance-	-No Rye, Spec	ial						
Bid Totals:				\$141,794.00		\$152,352.00		\$154,750.00

Line Pay Item Code	Quantity	Units	(6) L. A. Construction			
Description			Bid Price	Total	Bid Price Total	Bid Price Total
0001 2047011 _ Pavt, Rem, Modified	277	Syd	\$69.50	\$19,251.50	\$0.00	\$0.00
0002 2050010 Embankment, CIP	30	Cyd	\$112.40	\$3,372.00	\$0.00	\$0.00
0003 2050016 Excavation, Earth	90	Cyd	\$56.50	\$5,085.00	\$0.00	\$0.00
0004 2080020 Erosion Control, Inlet Protection, Fab	3 oric Drop	Ea	\$531.50	\$1,594.50	\$0.00	\$0.00
0005 3027031 _Aggregate Base, Modified	125	Ton	\$287.90	\$35,987.50	\$0.00	\$0.00
0006 3067031 _ Maintenance Gravel, Modified	50	Ton	\$66.50	\$3,325.00	\$0.00	\$0.00
0007 4030005 Dr Structure Cover, Adj, Case 1	2	Ea	\$2,414.30	\$4,828.60	\$0.00	\$0.00
0008 4030304 Dr Structure, Tap, 4 inch	1	Ea	\$1,239.80	\$1,239.80	\$0.00	\$0.00
0009 4040061 Underdrain, Subbase, 4 inch	27	Ft	\$85.00	\$2,295.00	\$0.00	\$0.00
0010 5010002 Cold Milling HMA Surface	280	Syd	\$69.40	\$19,432.00	\$0.00	\$0.00
0011 5010025 Hand Patching (HMA, 3C)	42	Ton	\$399.40	\$16,774.80	\$0.00	\$0.00
0012 5010032 HMA, 4C	42	Ton	\$314.20	\$13,196.40	\$0.00	\$0.00
0013 5017011 _ HMA Commercial Approach, Speci	126 al	Syd	\$251.10	\$31,638.60	\$0.00	\$0.00
0014 8017011 _ Driveway, Nonreinf Conc, 8 inch, M		Syd	\$388.80	\$4,665.60	\$0.00	\$0.00
0015 8020038 Curb and Gutter, Conc, Det F4	172	Ft	\$78.90	\$13,570.80	\$0.00	\$0.00
0016 8020050 Driveway Opening, Conc, Det M	186	Ft	\$332.20	\$61,789.20	\$0.00	\$0.00

Line Pay Item Code	Quantity	Units	(6) L. A. Construction			
Description			Bid Price	Total	Bid Price Total	Bid Price Tota
0017 8077050	1	Ea	\$913.50	\$913.50	\$0.00	\$0.0
_ Post, Mailbox, Modified						
0018 8110231	100	Ft	\$6.90	\$690.00	\$0.00	\$0.0
Pavt Mrkg, Waterborne, 4 inch, White	•					
0019 8120022	2	Ea	\$63.90	\$127.80	\$0.00	\$0.0
Barricade, Type III, High Intensity, Lig	ghted, Furn					
0020 8120023	2	Ea	\$1.10	\$2.20	\$0.00	\$0.0
Barricade, Type III, High Intensity, Lig	ghted, Oper					
0021 8120140	1	Ea	\$426.00	\$426.00	\$0.00	\$0.0
Lighted Arrow, Type C, Furn						
0022 8120141	1	Ea	\$106.50	\$106.50	\$0.00	\$0.0
Lighted Arrow, Type C, Oper						
0023 8120170	1	LSUM	\$4,471.20	\$4,471.20	\$0.00	\$0.0
Minor Traf Devices						
0024 8120252	40	Ea	\$17.00	\$680.00	\$0.00	\$0.0
Plastic Drum, Fluorescent, Furn						
0025 8120253	40	Ea	\$1.10	\$44.00	\$0.00	\$0.0
Plastic Drum, Fluorescent, Oper						
0026 8120350	200	Sft	\$3.20	\$640.00	\$0.00	\$0.0
Sign, Type B, Temp, Prismatic, Furn						
0027 8120351	200	Sft	\$1.10	\$220.00	\$0.00	\$0.0
Sign, Type B, Temp, Prismatic, Oper						
0028 8167011	165	Syd	\$70.50	\$11,632.50	\$0.00	\$0.0
_ Turf Establishment, Performance-N	o Rye, Spe	cial				
Bid Totals:				\$258,000.00		